030 0o

A,BOOUOOOODOOUO0D A0ODUOOODOOOOOO BOOUOOOODOOOOOOOO (fune-
tion)D 0000000 (map 000 mapping) 000,

00000000000 ADODUOO BOODOODDODO ADODODOUODOO BOOODOO
000000000 Ad0DO0DOO0O0OO0D0DO0DO00O00O00O0O0OO00ODOO0OO0 BOOOOO 100
gooooooo

040 ODO0O0OO0OODOOOOODOO.

032000000 (0: 0000000 200000: cO000OO0OOOOO)

3.1 UOoonogd

f000 AODOO BOOOODODDODOUOOD f:A->BOOOODODOOODAO fODOOO
(00,0000000, domain), BO fO000000 (00,00000 0000, codomain)'0
O0.000f00002€ A0 yeBOOOODDOOO (OODO)0O0ODO f(x)=y0OD0DOO
z0 fO000 (D0OO0O0argument)dDy 0 fO000 200 (D000 value) D000

00000000000 (range)D00000000000000O0O0OOOOOOOOOOOOOOOO f£0O
f(zy)=000000000 fO00D000O00DODOOOOODfOOOO{0}00000DODOO0OODOOOODD
goo0oooooooOoooobooOoooOoboOooooooOoooooOooooboooooOoOoOooooboOooooOoooon
O00o00oooo0o0bo0oo

21



3.2 UUoooooood

goooobbbtbodooooobbbbooobbuoo 200D bbbooooooLboD

00000 (D000, binary function): f:(Ax B) — C

0000000AxB—COO0000000000000z€A,yeBO0OOO f({z,y) O
000 f(z,y)0ODODO

041 00000000000000000. plus: N xN = N. plus((z,y)) =20 y0O0O.
o000, plus(z,y) DO0O.

000000000000 U00 (Dooo)ooooooo
f:A1 x Ay x---xA,—> B

042 n000000000000000 max O0mazr: N*"—-NOODO0OODO

oboooooboooboooooooo-00000O0DOOO0OO0OOO0OOODOOODOOO0OO0
000 (D00O0o0o000)ooo0O0OO0000U0o0O0O00000U0DU0ooOooOOoOoooOoOn
gobooboooboobooboooboboobooboobooon

3.3 0O (image)
00 f:A-BOO0DCCAOODOOOfO00COD f(C)0000000000
f(C)={f(x) e BlzeC}

g33000

033 0000000 CO0 £O).

gooobo,gooboooboobooobog.

ye f(O)=FrelCy=f(x)

3.4 00 (inverse image) ()

f:A->BO DCBOOOOOfO000 DOOO fYD)000O0O0O0O0O0O0O0OO0

(D) ={z e A| f(x) € D}
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0 3.4: f~Y(D).

obooooOo,obooocoooobao.
ze fTYD) e f(x) €D

D43|:|3.5[||:|D[||:||:|DfDDDDDAZ{CL,b,CLfDDDDB={172,3}7f({a,c})=
{132}7 f(A) = {172}7 f({a}) = {1}3 f({aa b}) = {1}3 fﬁl({]-?Q}) = {avba 6}7 fﬁl({]-v?’}) =
{av b}a f_l({g}) = ¢, f_l(B) = {av b, C} = A.

0 35 00 f.

3.5 UJOooon

goooooooo 20000 f:A—-B,g: A—-BOOOOODOOOOOCOCODODODODOO
ooo

Vee A f(r)=g(x)

gooo f=gy000.0000000000000OOOOOOOOOOOODOOODO
000000000000 (extensional equality) 0000

0 44 f(z) =2z, ¢9(x)=2c+20000 f=¢g0000

3.6 00000 (composition)

20000 f:A—B,¢g:B—~CO00D0O00f0 ¢00000000000000000O
O0Ogof:A—COO(gof)(2)=g¢(f(x) 00000000000000

O0000gof0000 f,¢00000000000000f000000000 ¢g0000
00000000000 gof000000000000000000(gof)(x)=g(f(x))00
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O00o0oooOOo0o00o0ooDO0O00o0oDOoODbO0ODb 4000000000 RoTOODODO
obooob00 ROODOOOOOOO TOOoOOODOOOOODOOODOOOOOOODbOOnOO
oD UIDOUODODODLOOOODODLODOUDODODODOLOLOOODODODOOO
gboooboobooooobooooboobooood

O0o.000OD0O0OUDO (DDODOO)oOoOoO:

(ho(go f))(z)=h((go f)(z)) = h(g(f(x))) = (hog)(f(z)) = ((hog)o f)(z)
0000 fog=gof0000000O

0 45 f(2) =% g(e) =2+ L. (fog)@) = fle+1) = (& + 1) (go f)(2) = g(a?) = a? + 1.

3.7 0000 (identity function)

00 A0O0O0O0OO0OD04dsa:A— A00OQida(r)=2 000000000000
f:A%BDDD,fOidA:f:’L'dBOf.

3.8 00 (JOOOO, one to one, injection)

00 f:A—-BOO0ODODODOODOOOOOOOOOOO
Vee AVy e A(f(x) = f(y) =z =y)

00000000000 VeeAWeA(r£y= flz)#f(y) 0000000000.00
O0DAD0DOOOOD BOOODOOOOOOODOOO00O0O0O0000O

0 46 (O 3.6)

i

036:00 f:A—-BO0O0OOOOOO g:A— B.

0 47 f(z)=ax+b(0000e#£0000)00000000 f:R->ROODODOODO.
g(x)=az® +br+c¢(0000e#£0000)00000000¢000000.

048 A={6k+4|keN}, B={3k+4|keN}, f:A—=B, f(x)=¢+300000. fO
00.00000z#y=x2+3#y+3.
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3.9 00 (0O000O0OUOonto, surjection)
00 f:A-B0O0DOOO0OO000000000000
VyeBadxr e A f(z) =y

000000 f(A)=BUOO0O0OODOOUOOUOOOOfO0OO0 AUDODOOO BOOOOO
ooooooooo

0 49 (O 3.7)

03700 f:A-BO0OOOOOOO g:A— B.

050 f:AxB— A, f(z,y)=200000 f000000000000.

051 g:A—AxAg(x)=(x,2) 00000 ¢g000000000000.

3.10 000 (bijection) DO OO (inverse function)

0000000000000 000000
f:A—-BOOOOOOOOOOOOOOOOG:B—-AO0O0O00O0Og0OO000 000
ooooo

Ve e AVy € B (f(z) =y e z=yg(y))

O00000Ogo f=ida, fog=idg 000000

052 F,O000000000D000O00O0ODOU0OOOf:0—E, fl(z)=2—10g:E— O,
g(x)=2+10000
f,¢00000000g¢0 fO00D000fO ¢00000000

3.11 0000 (partial function)

obooobooobOoboooobooooooboooboobooooooooboobooobooobooon
000000 ADDOOODOOODODOOOOD BOOOODODOOO 1020000000000
gooooooooooOoOOO0fOOD AQDDOO BOOOOOOODOODOOOOOf,A—B
oooo

200000 10000000000000 10000000000
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0583 dio0000000000CO00000O0O0divD RxROODRODODOODOOODODODO
OO000div;RxR—RODOOO
00 div(z,0) (D00 2 e R) 0000000000 DO0O0OOOO0OODOOOODOOOOOO

oboooboooobooboboooboobooboooooooOoboooooboooobooon
000000000000 (total function) 000000000

gbobooboobooboobooooboobooboooboooooboooobooooon
obooobooooboobooooboobOoboooboooobooooboooboOoooag
00000 (000000000)0000000000000o00o000oooOO0oooooo
goooooooobooboboooobooooooboooooobooooooo

gbobooboooboobooooooobooboobooooobooobooooboooboOoon
obobooooooooboooboobooboooobobooboooboooobboobooboooboonn
obooobooboooooboooobooboooonog
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